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EXERCISE 1 11. 33

Section A 12.200
1.17, 21 13.30
Y 14. 100
2.18, 21 :
3.42,55 15. 36
4.1/24, 1/31 16. 105
5.32, 64 17. 90
6.11,13 18. 45
7.29,28 19. 260
8.21,25
9. 16, 21 20. 475
10. 26, 33 EXERCISE 2
Section A
Section B
1.23
(a) — 2. 11
1 3.17
4.3/2
9 5.9/2
|_ 6. 13/5
6 7.17
interpretation 8.95
6+3 = 9+3 = 11 9.13
(b) 10. 22
40
Section B

| 35 3045 = 3545 =40

(a)
B 5

c p—
(c) 32 23
22
| 12
12 Interpretation
12+10 = 22+10 = 32 5+6+12=23

©



11.15+20 +8 =43
12.31+15+x=85
x =85-46

—

.35+15+9=59
2.16+24 +x =59

X % x =59 -40
~ oY x=19
13.9 25+ x =49 3.x+30+24=72
34 +x=49 _ 7954
x =49 - 34 X=le-
x =15 x=18
14. X + 18 + 21 =55 4.19+ 116 + 23 = 158
X +39=55 5.65+42 +x =146
x=55-39 X =146 - 107
Xx=16 x =39
15.66 + 32 +22 =120 6.28+30+x=98
16.44 + x + 15 =105 X =98 -58
X + 59 = 105 x = 40
x=105-59
X =46
17.85+49 + x = 211 7.X+24+72=106
134 + x =211 x =106 - 96
x=211-134 x=10
x=77 8.105+ 140 + x =316
18. 125 + x + 93 = 240 X =316 - 245
X + 218 = 240 X =71
X2 230-218 9.32+x+26=79
19. 158 + x + 240 = 516 X=79-58
X + 398 = 516 x=21
x = 516 - 398 10. X +52 + 86 =174
x =118 x=174-138
20. 85 + 56 + 105 = 246 X =36
EXRCISE S Section B
Section A interpretation
(a) M =16  6+6+4 =16
10—\ 45| —15
) % =13  5+5+3=13
20 Interpretation
10+15+20=45 Yo 24  7+7+10 = 24
(b) 16 interpretation
9 T\ 2022 9 *** 2=17 9+8=17
Y _ 7% 5=25 7+6+5+4+3 = 25

15 9+22+15—4GG 12 *** 3 =33 12+11+10 = 33



11.8+8+2=18
12.3+3+7=13
13.20+19 =39
14. X =15
15.4+4+x=11
8+x=11
x=11-8
x=3
16. X +x+4=24
2x+4 =24
2x=24-4
2x =20
x=10
17.(4+3+2)=9
9+8=17
18.5+4+3=12
vV VvV Vv

Fi‘i't Sec_<t>_nd 3r_(t1_
position position  position  y — 3

19.4+4+5=13
2+2+13=17
20. X + x +5 =21
2x=21-5
X =16/2
x=8
21.6
22.3
23.(3Y2) Y4 =[]
3Y2=3+3+2=8
8Y4 = 8+8+4 = 20
24. (8Y5)Yo =[]
8Y5 = 8+8+5 =21

(21 Yo) =21 + 21 + 10 = 42

25.10+9+8 =27
26 (9+8+7+6+5) = 35
Answer =5

27. (X)+(X-1)+(x-2)+(x-3) = 22
X+X-1+x-2+x+x-3=22

4x -6 =22
4x = 22+6
4x =28
x=%=7
28.15+15+10=40
29. X+x+5=45
2X +5=45
2X=45-5

2X =40

X=40/2 X=20
3012+ 11+10+9=42
\ A A |

ist  2nd 3rd
position position position X = 4

EXERCISE 4

Section A Interpretation

(a) 6 7 2

6+7=13-2=11

(b) 8 3 6

8+3=11-6+5
1.50+20=70+30=40
2.1(10+x) -4 =14
X+6=14
Xx=14-6
x=8

.(6+2)-8=0
.8+ 11-x=17
19-x=17
x=19-17
xX=2
6.75+30-x=80
105 + x =80
x=25
7.105+x-70=50
35+x=50
x=50-35
x=15
8. X +30-45=65
x-15=65
x =80
9. (75 +60)-92 =43
10.210+50 - X = 36
260 - x = 36
x =260 - 36
X =224

oA~



Section B

@) 12 (b) 20

2 6 5 4

8

interpretation
o eos 5x4=20
2x6=12
12:2=6

o
- 00 ©

11.50/10=5
12.7x2=14
13.16/4 =4
14.%+12=12"%
15. Vax Yo=Y
16.35/5=7
17.5+9=14
18. 7711 =7
19.10x9=90
20.17-12=5

EXERCISE 5

Section A
(a) (b)

interpretation 4x3=12
3x2=6 12+4=3
6+3=2 24+12=2
6+6=1

(c)

8 2
=
! o

8x'%=4
4=-8= "
16=-4=14
.30:6=5
15:5=3
.6x4=24
24:-8=3
8x2=16
30x2=60
8:2=4
27+3=9
.9:3=3
10.45:3 =

Section B
(a) 4 (b) 20 (c) 3

0l00.

2 16 1080 1% 12
interpretation 10x2=20 1% x2=3
2+2=4 20x4=80 3x4=12
4x4=16

11.11:2=11/2
12.16:2=8
13.15x2=30
14.7x2=14
15.2x4=8
16. 24 x4 =96
17.5:2=2"
18.50:2=25
19. 1%x 2 = 2%
20.90 x4 =360

EXERCISE 6

3 20 7

\@/
5 7
interpretation  (0x7)+7=7
(3x2)+5=11

©CRNOOARWN =

15



1.(6x8)+13 =53
2.(6x6)+x=48
36 + x =48
X =48 - 36
Xx=12
3.(19+x)+19=19
19x =19 -19
19x =0
x=0
4. (12x X)+13 =55
12x =55 -13
12x =42
X =42/12
x=3%
5. (12x X) + 17 =77
12x =77 - 17
X =60/12
X=5
6. (15x3)+25=70
7.(25x4)+x=115
100 + x =115
x=115-100
x=15
8. (Xx7)+65=135
7x =135 -65
x =70/7
x=10
9. (Xx5)+18=63
5x=63-18
X = 45/5
Xx=9
10. (15 x 11) + x =170
165 +x =170
x=170-165
x=170-165
X=5
Section B

2/\

e\

6 =8
AoYses
4 =2
interpretation: /i\ =+ ;\l/ = .e

11.X+35=5
x=5-35
x=-30
12.17 +x =28
X=28-17
x=1
13.(12+7)-2"%=x
19-2%=16 "%
14. (34 +43)-1=66
15.56-x=12+14
56 -x =26
X =56 -26
x =30
16. X+ 75 =150
x=150-75
x=75
17.85-x=20-15
85-x=5
x =85-5
x =80
18. X-98=28-20
Xx-98=8
x=8+98
x =106

19. (125 + 72) - 140 = 57

20. (98 + 85) - x = 60
x = 183 - 60
x =123

EXERCISE 7

Section A

o)

8
420

Q=15
3

10
)7
6



Interpretation:

_)=x Q/=+

1.30-3=10
2.5x9=45
3.10x9x X =450

x = 450/90

x=5
4.25-5=5x4=20
5.120+X =120 x 10 = 240

x=10x20 =200
8.39+13=3x10=30
9.7+21=1/3x9=3
10.15+15=1+15=1/15

Section B
21=2x1=2
41=4x3x2x1=24
6!=6x5x3x2x1=720
11. (3x2x1) + (5x4x3x2x1)
6+120 =126
12. 6x5x4x3x2x1 =720 = 30
4x3x2x1 24
13. (4x3x2x1) - (3x2x1) = 4
24 -6=18
14. (3x2x1) + (2x1) =4
2x1
15. 3x2x1 =6
6xX =30
X=30+6
X=5
16. 5x4x3x2x1 = 20
3x2x1

17.5!-4! =
2!
5x4x3x2x1 - 4x3x2x1
2x1
120-24 =96 =48
2 2
18. (5x4x3x2x1) - (5x4x3x2x1)

(3x2x1)
(720 - 120)
6
=600/6 = 100
19. 150 - (4x3x2x1) =
150 -24 =126

20. (6x5x4x3x2x1)-(5x4x3x2x1) +

31
= (720 - 120) + (3x2x1)
= 600 + 6 = 606

EXERCISE 8

Section A interpretation

(@ /10 (b) /16

[52]

3 5 11 25
3+10+5=18 11+25+16=52

© /4%
11

2 2

4+ %+ 2=V

1.9+5+4=18
2.22 + X+10=44
X =44 -32
X=12
3.X+5+5=10
X+10=10
X=0
4.63+27 + X =139
X=139-90
X =49
5. X+%+%=1
X=%t-1

0



6.45+x+32=102
x=102-77
x=25
7.75+36 +25=136
8.64+18+ X =115
X=115-82
X =33
9. X +2/7+3/7T=6/7
X =6/7-5/7=1/7
10.21/5+ 3/5+ X =31/5
X =31/5-24/5
X=2/5

Section B

(@ 4 b) 9

24 P12 I<4 P
6 12

Interpretation
12:6=2x2=4

() 12
64 36

18
36+18=2x6=12

11. (X+10)x2=6
x=10=3
x =30
12.24+8=3x2=6
Section B

13.60x3=12
X
12x=60x 3
x=60x3 _
2 =15
14.(42+21)x X =14
2X =14 X=14/2 =7
15.18x X =6

36:12=3x3=9

9 O

18x X=9x6
X=9x6 =3
18
16. X+20x20 - 16
x+20=8
x =160
17.30x3=15
X
15x =30x 3
x=30x3=6
15
18. (88+11) x5 =40
19. (X+6)x2=12
X+6=6
x =36
20.64+-16x4 =16

EXERCISE 9

Section A
(a)P®Q = P+Q .. 5@3=5+3=8=4
2 2 2
(b) mGn =2 (m-n).". 6(5=2(6-5)=2
Interpretation: ®=+ and® = -
1.3+11=14=7
2 2
2. 2(10-7)=6
3. (8®5)=8+5=13
2 2
1303 =2(13 - 3)
2 2
2(13 - 6)

BN




7.10+X O 7 =1
2
210+ X-7) =1
2

210+ X-14)=1
2
100+ X-14=1
4+ X=1
X=1+4
X=5
8.2(20-8)=24
9.12+5 =17
2 2
10. 2(X-6) =18
2X-12=18
X=15
Section B
5P4=9 9q6=3
1P16=17 12P6q5=13
Interpretation: P =+ and q = -
11.17 +23 =40
12.27+6-9=24
13.36+4+x-7=54
X-7=54-40
XxX=14+7
x =21
14. X+15=15
x=0
15. X-9% =%
x=% +9%
x=10
16.78 -x =42
x=78-42 =36
17. X-66 =120
x =120 + 66
x =186
18.25+6-11=20
19.125+x-49 =137
76 + x =137
X =61
20 X -80 +34 = 96
X -46 = 96
X =96 +46
X =142

10

EXERCISE 10

Section A

Interpretation:

3x2=6 5x4=20
4x2=8 6x4=24

9 7

45>G;)<35

9x5=45
7x5=35

.5x3=15
.3x10=30
.60:20=3
16:8=2
30:5=6
28:4=7
8x6=48
36:9=4
.9x3=27
10.72:6=12

Section B
12<15=15-12=3
9>5=9+5=14
3M=3x4=12
12v2=14:2=7
Interpretation:

> = + <

AN =X \%
11.15-10=5
12.18 +6 =24
13.(8+4)+2=6
14.(15-9)x 2 =12
15.(30+3)+5=2
16. 95+ 5=19
17.35x6 =210

©CONDUAWN



18.36-x=72 1.7

X=36-72 12.7
X =-36 13. 2
19. (36 +X) + 3 =20 14.4
X =60 - 36 15.3
x =24 i
20. (19 - 16) xX = 28 18 9
3x = 28 19.5
X = 28/3 20.5
X =91/3
EXERCISE 12]
) Section A
Section A
1.10
7 5 5 - 2.4
3.0
4 27 48
= 1
X873 g 7-e3 108 ) 328
4 x27 =108 8. 67
1.109 - 13 = 85/13 9.0
2 0x5=0 10.16 +9+0=25
3.84+7 =12 Section B
4.225+9 =12 11.60
5.7+3%=2 12.8
6. 2% x 10 = 25 13. 130
7.49+14 = 3%, 14. 20
8.72-12=6 15. 9
9.35x6 =210 16. 15
10. 170+ 32/5 = 50 17. 7
Section B 18.15
19. 7
20. 21
21. 294
22.24
23.35
24.9
3 225 25.9
26.5
40 5=1 27.10

6@ 1@ 3=2 m 28. 5



EXERCISE 13 Section B

. (a) (b)
Section A 6(S)2=3 5(R) 4 = 20
3 | 1 8(S)4=2 1/3®9=3
> 6 511 74 3(R)2(S)4=1% 4 (R)7 (R)5=140
Interpretatio
715 2 | 2¢ s = « R = X
. 3| 1

Interpretation: 11.21+7=3
3+2+7=12 1+2%+7TVh=11 12.13(R)2 =
1+6+5=12 5% +2+3%=11 13 x2 =26
1.8% + X + 4% = 25Y% 2662;")4=26+4

x = 25Y - (8Y2 + 4V; T 072

1%, (872 +4%) 13.36+18 =2
2 27 +34 + x = 61 14.7x8+X=14
x=61-61 X =4

x =0 15.3x11x6 =198
3.7+34 +x=51 16.64+4+x=8

x = 51-41 x=16/8

x =10 X =2
4. 8%+ x +6 = 24% 17.63+9 =7

X = 24%- 14Y 18.63+3xX=9

x=10% 21x=9
5. 25+ 32 +x=75 X = 9/21
x=75-57 x =37

=18 19.105+5+3=7

20.96=8 x5=60
6.4+8+x=182/3

x=182/3-12 EXERCISE 14

x=62/3 Section A
7.X+6+435=13

x=13-103/5 7 2 2
X=22/5
8.24+x+19=60

X +43 =60

x =60 -43 25 9
o 32= 1475 200 Interpretation:

. - +X= = = =7 = =
x = 200 - 137 7-2=5X5=25 5-2=3X3=9
X =63 8 1

10. X + 236 + 160 = 505

x =505 - 396
X =109 8-1=7X7=49

@ 49



1.8-2=6X6 =36
2. (x-2)X(X-2)=169
(x - 2)’= 169
x-2=]169=13
X=13+2
x=15
3.(x-7)x(x-7)=16
(x-7Y=16
(x-7Y=16
X-7=[16=4
X=4+7
X =11
4.5-1=4x4=16
5.(9 - x)x (9 -x) =49
(9 - x)*= 49
9-x=[49=7
Xx=9-7
X=2
6.(25-26)=-1x-1=1
7.(37-x)x (37 -x) =64
(37 - xy=64
(37 - x)’= 64
37-X=/64=8
x=37-8
x=29
8. (X-11)x(x-11)=81
(x - 11)°= 81
(x - 11)= 81
X-11=[81=9
=9+ 11
x=20
9.(39-x)-(39-x)=100
(39 - x)* = 100
39 -x=[100=10
x=39-10=29

10.18-7=11x11 =121

Interpretation
3x5=15

Section B
(a) 3 5
7 g 7+8=15
11. (2x3)-3=3

12.(25+11)+4 =9
13.(5x6)-20=10
14. (50 +50) =25 = 40
15.(8x5)-10=30
16. (9 x 8)-41 = 31
17.9Xx=64+35
9x =99
X =99/9 = 11
18.(2%2x8)-14=6
19. 51/3 x X = 27 +21
16X =48
3
16X =3 x48 =144
X=144=9
16
20.(30+12)+7=6

EXERCISE 15

Section A

) ?
3x2=6-5=1
1. (7 x13) - X =91
Xx=91-91
x=0
2. (ax 1/z) 1/6—1/12
3.

@ X=6



5 (Xx24)-12=0 14.X+(3+5)=5
24x =12 _x_=5
=" (3+5)
6. (7 x X) -5 = 51 x=8x5
7x = 56 X =40
Xx=38 15.69+(x +17)=3
7.5x7)-x=9 69 =3
35-x=9 X+ 17
x=35-9 69:=3x + 51
X =26 3x =69 - 51
8.(6xX)-30=14 x =18/3
6x =44 X=6
x = 44/6 16. X=(15+10) = 4
x=71/3 X =4
9.(4x12)-x=232 15+ 10
48 - x =32 x=25x4
Xx=48-32 x =100
x =16 17. 99+ (5 + 4) = 11
10. (11 x7)-61=16 18. 56 =7
Section B 6+ 6+ = 56
X_
(@ 21 (b) g () 24 6 + x = 56/7 =8
m m e
® @ ® 19. X+(3 +2) = 27
2 51 30 4 X =27
Interpretation 1+3=4 0+4=4 3+2=27
2+5=7 8+4=2 24:4=6 x=27(3+2)=27x5
21:7=3 X =135
11.39+(8+5)=3 20.72+(x+5)=9
12.60=(x + 3) = 4 72 =9
60 =4 X+5
X+ 3 72 =9x +45
60 = 4x + 12 9x =72 - 45
4x = 48 x=27/9
X =12 x=3
13. 20 =2 EXERCISE 16
6+X Section A
12+2X=20 3 3
2X=20-12
2X =8 @
X=8=4 3x3=9+2=11
z @



1.(5x8)+13=53
2.(12x%)+1=14
3. (

1.(4-2)=2x5=10
12 (10 - 7) xX = 24

19x X)+19=19 3x=24
19x =0 X = 24/3
x =0/19 x=8
% =0 13. (6 - x) x 10 = 60
4.(0x 4) + x =¥ oo x= o000
X=% x=0
5.(8x13)+x=121 14.(x-5)x 3 =45
x=121-104 X -5=45/3
x =17 x=15+5
6. (7 x X) + 30 = 58 x = 20
7x =58 - 30 15.(9-9)x2=0
X = 28/7 16. (x-2)x 6=24
=4 X-2=24/6=4
_ X=4+2
7.(6x7)+98 =140 =6
8.(5xX)+r12=127 17.(12-x) x 8 = 72
5x =127 - 72 12-x= 72
5x =55 8
x =55/5 12-x=9
x=11 12-9=x
9.(8x6)+x=84 x=3
48 + x = 84 18.(15;g)xx5=5
X = 84 - 48 x=
x = 36 2o
10. (Xx 1/3) + 84 =94 19.(10-1)x 1/3=3
xg=?g-84 20. (10 -4)x 5 =30
X 30 EXERCISE 17
Section A Section A
(@ —1 © —5 4 9 125 21 9
Sd3=3 Sd10=30
5 2 @/ @
1.0=1x3=3 5-2=3x10=30 6 5 3
(b) —~3 4x9=36 25x2=25 {x9=9
_ 62=36 2 2=9
Sd8—16 52 = 95

1
3-122x8=16 @



X2=144, X=[44=12
. 9%= 81

.64:16=4
.100+5=20

.4+8="%

X=36, X=[36=6

. 15% =225

. 64+4=16

.62=36

10. 4 =16

Section B

OCOoONOOOPWN -

2 3

=(12,11
4 9 ( )

Interpretation
2+9=11
3x4=12

11.1x2=2,7+9=16
(2, 16)
12.X+6=15
x=15-6
Xx=9
13.8xX =24
X = 24/8
x=3
8+Y =24
Y=24-8
Y =16
(3, 16)
14.12x=0,10+9=19
(0,19
15. 15+ x =45
x=45-15
x=30
16.3x X =45
X =45/3
Xx=9
17.Xx9=72
x=72/9
Xx=8

18.Xx11=99 | Y+9=17
X = 99/11 Y&O=17-9
X=09, Y&~ 8
(9,8)
19.12/3 xX =50
5/3 xX =50
x=50x3/5
x =30
20.15xX =35
x = 35/15
x=7/3

EXERCISE 18

SectionA 33

5
Interpratation
7x5=35-2=33

1. (7 xX)-1 =41
7x=41+1
x =42[7
X=6
2. (M x9)-x=97
x=99-97
X=2
3. (Xx7)-2=61
7x=61+2
X =63/7
x=9
4. (13 x11) -2 =141
5.(15x9)-x=129

135-x=129
x=135-129
X=6
6. (8xX)-16 =56
8x =56 + 16
X =72/8
XxX=9



7.(Xx12)-40 =68
12x =108
x =108/2
x=9
8.(12/3x15)-7=18
9. (1% x18)-x=20
27 -x=20
x=27-20
x=7
10. (9x X)-18 =81
9x - 18 =81
9x =81+ 18
9x =99
x =99/9 = 11

Section B
7

@

4 3
11. (11 +16 + 32)-2 =58
12. (18 +32+11)-2=59
13(24+41 +x)-2=78
(65+x)-2=78
Xx=78-63
x=15
14. (X+64 +25)-2=119
X+ 87 =119
x=119-87 =32
(70 +52 +x)-2=142
122 + x =142 + 2
122 + x = 144
X =144 -122
X =22
16. (21 +30 +x)-2 =82
x=82-49
x =33
17. (x +45+31)-2=105
X+76=105+2
X+ 76 =107

Interpratation
7+ 4+3=14-2=12

x=107-76
X =31 m

18. (x +10 +44)-2=92
X+52=92
Xx=92-52
x =40

19. (65 + 36 +18) - 2 =107

20. (86 +32 +x)-2=168
X+ 116 = 168
x =168 - 116
X =52

EXERCISE 19

Section A

1. 34621

. 4217

. RUSE

. SEAT

. 421

217

. PASTE

. RAPTURE
. 624

10. TRAP

Section B
5 6

O©CoONOOPRWN

6X5=30+12=42
12

N

1

20

TX1=77+20=97

11.7X9=63+34=97

12.(5X7)+X =105
X'=105-35
X =70



13. (8 x X) + 64 =104
8x =104 - 64
x =40/8
X=5
14. (Xx6)+16=70
6x=70-16
X = 54/6
x=9
15. (11 x9) + 14 =113
16. (13 x5) +x =96
X =96 -65=231
17. (X x12) + 42 =138
12x = 138 - 42
x =96/12
x=8
18. (15 x X) + 32 =92
15x =92 - 32
X =60/15
x=4
19. (18 x X) +5=23
18x=23-5
x =18/18
X =1
20. (Xx40)+32=32
40x =32 - 32
40x=0
x = 0/40
=0

EXERCISE 20

Section A
4 5

12 15

12+-4=3,3x5=15

1.28+:4=7
2.30+3=10
3.7x5=35
4.42+-7=6
5.6x3=18
6.35+5=7

18

7.120+10=12
8.90+10=9
9.210+30=7
10.39+3=13

EXERCISE 21

Section A
a4

E?%,j Interpretation
4x6=24-1=23

6

1.3x7=21-1=20

2.(31+1):4=8
3.(6x3)-1=17
4.(53+1)=6=9
5.(49 + 1)+ 5=10
6. (47 + 1) 24 = 12
7.(6x12)-1=71
8.(62+1)z9=7
9. (17 + 1)=2/3 =27
10.2/5x20)-1=7

7 5
Interpretation
35+7=5
7+5=12

11.63x9=7
12.10-7=3
13.x+4 =8
x=8
4 1
x=4x8=32
14.13+5=18

15.251/10-1/10 =25

16. 5%.+x =4
M x1 =4
2 X 1
1 -4
1

2x 11

11

X N

X
X =
8x =
x="%

1%



Interpretation:
=25
=63

@ 10.39-14=25
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Section B

@E1<«®

®

Interpretation:
2x3=6
1+5=6

11.63-24 =39
12.15-2=13
13.6x7 =42
14.52+4 =13
1516-7=9
16.161+7 =23
17.96 - 56 = 40
18.108-96 =12
19.160+8 =20
20.105+15=7
21.35-18=17
22.70 +95 =165
23.99-36=63
24.132+12=11
25.120+-8=15
26.110-95=15

EXERCISE 24

Section A
33

5

Interpratation
7x5-2=33

D

1.(7xX)-1=41
7x=41+1
X =42/7
X=6
2. (M x9)-x=97
99 -x=97
x=99-97
xX=2
3.(Xx7)-2=61
7x=61+2
X =63/7
x=9
4. (13x11)-2=141
5.(15x9)-x=129
135-x=129
x=135-129
X=6
6.(9x6)-3=51
7.(21xX)-32=157
21x =189
x = 189/21
x=9
8.(12x16)-7 =113
9. Xx16)-9=71

16x -9 =71
16x=71+9
16x = 80
x = 80/16
X=5
10. (11 x12)-x=124
132-x=124
x=132-124
x=8
Section B
2AN1=5 aV1=1
3A2=8 6V3=0
Interpretation: Interpretation:
2x2+1=5 4:2-1=1
3x2+2=8 6+2+3=0



1. (1x1)+4=5 3. 22+ 7’=53
12.(10+2)-5=0 4. X2+ 6*= 72
13.(12+2)-x = 4 =72 - 36
6-x=4 x2= 36
X=6-4=2 _
14.(8x2)+2=(18:2)-5 §=\'?
9-5=4 . o
15.(5x2) +6=16=2 5-5+X::g’8_25
(20=2)-2 8 X2: o5
16.(5x2) +5=15=3 X:\,2_5
(14=2)-2 5 §:5
17.(15+2) -2 =5% =
(25x2)+5 55 6. X2+ 5=29
M1 -1 x=29 - 25
2 “55 10 X =\
18. (14x2)+4=32=8 X =2
(122)- 2 4 7. 3+ =45
19. (24 x 2) + 4 = 52 2= 45 - 9
(B+2)-2 % o= 36
51—2x%=-104 x =36
20. (16 X 2) + 2 =34 = -34 X=6
@=2)- 3 -1 8. X+ 7°=85
EXERCISE 25 ﬁf gg - 49
Section A x =\36
X=06
9.5+ x2= 89
2 = -
EN |'_‘i 1 ﬁ| §=\lg_2 25
0] [1] o
Interpratatlon Interpratation: 10. 9%+ 7*= 130
2 -
3+1 13” 4+52'2$+25 Section B
B 6 5 10 12
1. 5%+ 22= 29 ”’ "‘ $ ¢
2.X+ =25 3 25
x=25-9 5 144
X=16 Interpretation:
x =[16 3x2=6 5x2=10

X =4 @ (25 =5 {144 =12



11. 6°= 36

1.15+5=3
12.7x2 =14 0 4036 =4
13./64=8 3.18+2=20
14.]81=9 4.21+7=3
15.20+2 =10 5.63+7=9
16.32+2 =16 6.72+24=3
17.3=9 7.108 +6 =114
18. 15 x 2 = 30 8.14 x9 = 126
19.1169 = 13 9.195-15=180
20. 15%= 225 10. 158+28 =6

EXERCISE 26 Section B

1.14 7. 35 8 }—1 5
2 12 \__/
3. 16 20 32 24
‘51. Eit?e 4B 20854597 32ihnds1e5 24r6odrne0
. a an eans
6. Spaghetti M. @=x)+5=9
7 AEpS 8/x=9-5=4
. P
8.20-8=12 :
9.20-6= 14 12 k= B)v 37
X = -
10.20-20=0 X =9 x4
EXERCISE 27 x =36
13.40 + x = 11
1.3 10
2.9 x=11-40= 11-4
2.§+7=9 10
: =7
5.8 14, (24 + 6)+1=5
6.4 15. (56+x) +2=6
7.1 56/x=6-2=4
g 5(2) x = 56/4
x=14
10. 11 16. (84+21)+x =8
EXERCISE 28 xZo-4
Section A 17.(156+39) + 6 = 10
5 ® 18. (x+48) + 11 =15
>0 . x/48=15-11=4
12 Ir}ltgrir;ta:%n: x =48 x 4

10+2=12 @ X =192



19. (60+x)+9=13
60/x=13-9
60/x =4
x = 60/4
x=15
20. (X+18)+13 =17
x/18=17-13
x/18 =4
x=18x4
X=72

EXERCISE 29

Section A
4 12
5 Y Ix4x2=24+2=12
4 Y 4x5x3=60+2=30
6 9
/\/ 1x6x3=18+2=9
1 3

1.2x5x3=30+-2=15
25x4xX=120x2
20x = 240
x = 240/20
Xx=12
3.Xx7x5=105x2
35x =210
x =210/35
X=6
4.2xXx6=180x2
12x = 360
x = 360/12
x =30
5.4x6x5=120=-2=60
6.7x6xX=168x2
42x = 336
x = 336/42
x=8

7.Xx5x3=90x2
15x =180
x =180/15
x=12
8.9xXx5=180x2
45x = 360
x = 360/45
X=8
9.3xXx2=54x2
6x =108
x =108/6
x=18
10.8x5x7=280+2 =140

Section B
a4

6 8
Interpretation:
4x6=24-2=22 7+8=15-2=13

11.6x5=30-2=28
12.3xX=19+2
3x =21
x=21/3
x=7
13.6xX-2=46
6x =46 +2
x=48/6 =8
14.9+7-2=16-2=14
15.8+x-2=18
6+x=18
X=18-6
x=12
16.12 +x-2=26
10 +x =26
x=26-10
X=16
17.15+17-2=30



18.6 +x-2=23
6+x=25
x=25-6
x=19

19.Xx9=124+2
9x =126
X = 126/9
x=14

20.15x12=180-2=178

EXERCISE 30

Section A

Interpretation:
4x5=20-2=18
4+2=6 3+2=5
5-1=4 4-1=3

.7x8=56-2=54
.7-2=5
.9+1=10
.40+2=42+-6=
A4+2=6x3=2
.12-2=10
.11-1=10
.14+2=16
.180+2=182+-14 =13
10.12x 13 =156 -2 =154
Section B

Zi= 1 =1

Zo= 1x2 =2
Zi= 1x2x3 =6

1.6-2=4

12.24 +6 = 30

135

14.720 = 6
120

7

O©CoO~NOOOADRWN -

3x4 =12-2=10

15.120 - 24 = 96
16. (24 - 6= 324
17.120 - 24 = 96 = 24
4 4

18.120 +2-24 =98
19.2 -1 =1

6 6 6
20.6/2 =3

EXERCISE 31

Section A

Interpretation: 77
15-4=11x7=T77

25 8
25-9=9x8=72

78
1.10-5=5x6=30
2.20-7=13x9=117
3.(15-4)x X =99

11x =99
X = 99/11
Xx=9
4. (18-x)x7=112
18 -x=112/7
x=18-16
x=2
5.(x-15)=120/12
x-15=120/12
x=10+15
x=25
6.(12-4)x X =48
8x =48

X =48 /8
@ i

12-9=3x5=15



=108/9 =12
=12+6
x=18
10. (14-7)x X =84
7x =84
x = 84/7
X = 84/7
x=12
Section B

11. NATION
12. 487214
13. ROOM
14. 29441
15. 192

16. MAT
17.7194
18. FAINT
19.716
20.712

EXERCISE 32

Section A

Interpretation:
4X4+8=24
/2] [4][eN

1.(3x3)+x=49
x=49-9
x =40

2. (1M x4)+x=65
X =65 -44
x=21

3.8x%)+ 0=2

4. (Xx5)+12=42
5x =42 -12
x =30/5
X=6
5. (7TxX)+16=72
7x=72-16 =56
X = 56/7
Xx=8
6.(4x8)+x=60
x =60 -32
X =28
7.(1x1)+x=%
%-1
1

N\

X
X
8.(25x%)+16 =26
9.6x4)+5=29
10. (94 x X) + 18 = 300
94x =300-18
X = 282/94
x=3

Section B

6P2 =2 4P3
6+2=8 =2 4+3

5-
12.8 +

13.

14.

15.

16.12+% =2=




— nl
= 2%

A\
+
A\

+

w +

TS

10
x-3 7
7x+21=10x-30
3x =51
X =51/3
x=17
19.21+x=11
21-x 10
210 + 10x = 231 - 11x
21x =21
X=1
20. 25 + 4 = 29 = 181
25-4 21

EXERCISE 33

Section A

15
A

21
A

5« »6 74 1T»9

Y
2
6x5=30-2=15

1.6x7)+3
2.(6xX)+3
6x = 30
x = 30/6
Xx=5
3.(Xx9)+3=15
Ix=15x3=45
x =45/9
Xx=5
(8x9)+4=18
Xx7)+4=21
7x=21x4=84
x = 84/7
x=12

Y
3
7x9=63:+3=21

% = 115

10

3

4.
5.

6. (9 x X)=3 =21

9x=21x3
X =63/9
X=7

7.
8.

=63

(12x9)+6=18
(2x8)+5=32

8x=32x5
x = 160/8

x=20
9. (8xX)+2/3 =
8x=72x
8x =48
X = 48/8
X=6
10.15x9=135

5 5
Section B

72
2/3

=27

24—

20

99

90

4l

I

4x6=24
24-4=20

11.27-3=24
12.90+5=95
13.72+6 =12
14.44+11=4
15.33+3 =236
16.84+7=12
17.96-8=78
18.135+15=9
19.64+4=16
20.3x30=90

REVISION 1

1.23
2. 11
3.17
4.3/2

9x11=99
99-9=90




6. 200
7.105
8.90

REVISION 2

.40
.8
.25
.15
5
.3
. 60
4

ONOOAWN

REVISION 3

.15
.30
3
T
.48
.4
. 8%
.0
.25

©CONOTRWN =

N
©
w
()]

REVISION 4
.0

112

.8

. 26

.10

8

6

.3

REVISION 5

1.2,16
2.9
3.9

ONOOAWN



4.8

5. 34621
6. 4217
7. RUSE
8. SEAT

REVISION 6

REVISION 7

.15
.12
.8

.12

ONOOAWN =

Y

EVISION 8
. 54

.5

.10

.10

.30

.17

6

1

REVISION 9

1.40
2. 21
3.28

ONOARWN =
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